BARANE R - AAKETER (IBAEHET)

ARNTEREFSREHZFHT - AOKER

1T 4 AR X HE 5 z 5
AGERT Hh I AREHET 1,130 1,464 1,439 2,903
RiEHhig K 797 872 893 1,765
2K BT 7 $h 32§ AHET 7 200 195 229 424
BT B Hhig N 869 947 1,053 2,000
TR b i TR 1,057 1,236 1,394 2,630
=/ Eihig B/E 477 547 592 1,139
T BEEW 195 216 271 487
i 1w 105 147 155 302
iR ithig iR 267 308 360 668
s HAR W 98 100 141 241
AR XE 879 1,009 1,048 2,057
it 2 Ehis dzE 476 516 544 1,060
B M-Af 167 190 195 385
LA 7ot R 195 215 232 447
F& Hhig Be 2,882 3,441 3,869 7,310
HHE A Hhig HES 1,750 2,073 2,300 4,373
ERAE) &g AEN&—~mTH 783 952 1,048 2,000
PR &Rz &EE~ATH 1,477 2,269 2,295 4,564
M B A Hhig MRS 2,279 3,324 3,389 6,713
HE3E A Hhig HmES 2,294 3,354 3,422 6,776
LA Hhig wIlUE 1,332 1,911 1,933 3,844
19,709 25,286 26,802 52,088

BARAGFEEHF - AOEEF (I8 1LELET)

1T I 4 AR X N 5 z i
« dL#aH 188 249 290 539
AR FafaH 411 547 598 1,145
Jb 3 Ehig ITEE 408 564 584 1,148
B E Hhig BETE 663 868 909 1,777
HEF 54 54 81 135
- LR 140 179 188 367
BRI B3 235 343 373 716
ek 46 44 71 115
a1&E 54 74 91 165
tRo& 136 156 202 358
IRt ERithis +Ia3%F 71 94 116 210
+IH4AE 53 67 76 143
+IH5%E 98 134 137 271
+tih6e&E 152 172 205 377
+R7%& 66 87 81 168
L inraEbitig +in8&E 92 120 115 235
+IHo%E 111 130 141 271
El10& 90 98 124 222
WERXsN 28 29 27 56
= e X 4% 6 5 5 10
R4 74 60 76 136
3,176 4,074 4,490 8,564

T R28F9F KH
THH 5 5 X H

BAAERARD 28,631 35,925 38,536 74,461
SEAERAO 186 275 224 499
KENMmAL 28,817 36,200 38,760 74,960

BAAFEREME- AOKETE (IBNE)

1T g £ AR X HEH 5 g 5

b b =] 247 299 319 618
BRI b N 125 156 176 332
=H 111 144 155 299
P ki 69 84 97 181
IR PR AL KE 215 258 252 510
EIEFE 20 27 27 54
FEFTHT 172 174 207 381
HTHET Hh iz h#TET 129 150 150 300
AL FrHET 129 167 150 317
FaET 180 220 252 472
FG T 16 24 29 53
i B Hhig chET 36 31 41 72
BT 100 106 122 228
& 87 90 120 210
1] 142 147 184 331
" ERER—TH 53 55 76 131
BRI A1 ERER=TH 286 333 345 678
ERER=TH 54 72 85 157
Rill 61 55 68 123
Lz k 34 21 37 58
it 41 49 52 101
hnyse R B sk N E 59 58 63 121
INET 72 67 75 142
$£7 75 80 98 178
(LI 27 39 36 75
HERE 100 102 111 213
FeE) 5 114 136 150 286
AR 97 109 135 244
[ic] 46 49 55 104
R R Hh i ® 32 36 39 75
BEKE& 63 66 81 147
IhVEF 73 76 93 169
mp 39 46 53 99
B 36 40 46 86
=i 34 38 43 81
B/ 12 15 19 34
N 5 5 4 9
7/ 30 39 43 82
ETF 21 27 27 54
W ITFF 16 17 21 38
SR e 9 13 11 24
=P 9 7 9 16
i35 5 4 3 7
N 13 11 15 26
bus 33 42 50 92
AR 46 55 73 128
FINTE & i EIGA= 2,373 2,726 2,947 5,673
5,746 6,565 7,244 13,809

T 28 F9A RIRTE

5% HIA R

X5 THHE H

BARAERAO 28,603 35,905 74,406

SNEAEFERAO 192 276 504

KENMmAA 28,795 36,181 74,910
(BEH) (BH)

X5 ik B X5 HHH B = A
Be—TH 803 875 1,880 WLE—TH 158 190 193 383
HEZTH 562 640 1,382 WUE=TH 0 0 0 0
WE=ZTH 271 324 680 WILE=TH 0 0 0 0
HemTH 202 252 531 WILEMTE 0 0 0 0
HWERTH 754 992 2,079 WILERETHE 68 98 96 194
H&EATH 88 109 228 WILEARTHB 187 274 278 552
HetTH 202 249 530 WLEtETHE 427 636 635 1,271

HESE—TH 0 0 0 WILE/INTE 0 0 0 0
HEEZTH 247 329 658 BWILENTHE 9 9 14 23
HEB=TH 8 9 18 BWLE+TE 226 337 343 680
HEBMTH 0 0 0 wea+—TH 208 304 316 620
HEBRTH 301 356 757 WueE+=TH 0 0 0 0
HEBNTHE 173 208 453 WLE+=TH 49 63 58 121
HESETHE 344 389 828 INEE 1,332 1,911 1,933 3,844
HEEB/N\THE 374 466 978 =11 12,797 17,324 18,256 35,580
HEBATH 303 316 681

KZINE—TH 341 408 850

KEZJINEZTH 99 122 251

KENE=ZTH 343 422 899

KZEINEWMTH 0 0 0

KEINERTH 241 399 786

RENEATE 544 776 1,559 (&FH)

KZINELTH 327 487 992 X5 HHH 5 = i

KZINE/NTH 365 607 1,227 mmEe—TH 164 194 210 404

KEINEATH 0 0 0 EmE&E=TH 141 148 168 316
MEE—TH 505 773 1,501 ENE&E=TH 142 145 172 317
MEEZ=ZTH 122 196 385 FENEEmTH 118 133 149 282
MWRE=TH 244 343 724 FENE&EETH 55 64 61 125
MWREMTH 258 348 719 EmnE&E/RTH 164 182 208 390
MEERTH 267 393 794 mAmEaetTHE 157 172 199 371
MEENRTH 368 519 1,047 EmE&s/\TH 186 210 237 447
MWEREETH 294 458 921 EmEaenTE 186 208 233 441
MEE/NTH 221 294 622 mnEs+TH 181 207 218 425
m\EE—TH 283 309 626 EmxEe+—TH 253 298 291 589
WMELSZ-THE 377 545 1,098 EmE&sE+=TH 217 270 271 541
BEB=TH 361 561 1,156 Emxe+=TH 151 179 189 368
wBEAEMTH 298 438 906 Emxae+mTE 120 143 173 316
W\EERTE 368 593 1,192 Emxe+ETH 138 173 168 341
HWEENTHE 328 585 1,145 =X 2,373 2,726 2,947 5673
WEELTE 279 323 653
HwmEE/\TH 0 0 0

INET 11,465 15,413 31,736




